,,Līdzīgi trijstūri.’’

1. Uzzīmē; uzraksti atbilstošos dotos lielumus un aprēķini prasīto: 
a) ∆ABC ~ ∆MPU; malai AC 

atbilst mala .......................... .

b) ∆TUV ~ ∆KLM; TV=9cm

KL=1,5cm; KM=4,5cm; līdzības
koeficients k=...........

c) ∆PRS ~ ∆TUV; <S=100°; <R=50°

<T= .............

2. Aprēķini nezināmos lielumus!
a) Dots: ∆MNB~∆CED; MB=18cm; MN=6cm; ED=5cm; DC=6cm
Jāaprēķina: CE- ?

Atrisinājums:

b) Dots: ∆ABC~∆KLM; AB=6cm; AC=3cm; MK=6cm; ML=8cm
Jāaprēķina: KL- ?

Atrisinājums:


c) Dots: ∆AOB~∆DOE; DO=6cm; DE=8cm; OE=4cm; EB=2cm
Jāaprēķina: AO- ?

Atrisinājums: 
d) Dots: ∆MNP~∆SNR; MR=5cm; RN=3cm; RS=2cm; MP=4cm
Jāaprēķina: NS- ?

Atrisinājums: 
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